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Exercise

1. For any two sets A and B,prove that

Watch Video Solution

B ⊆ (A − B)
c

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_81kP08gbUEmW


2. Find the maximum and minimum value of

Watch Video Solution

5 cos θ + 12 sin θ + 12

3. Find the amplitude of (1-i).

Watch Video Solution

https://dl.doubtnut.com/l/_81kP08gbUEmW
https://dl.doubtnut.com/l/_S3GtfTs5DHxL
https://dl.doubtnut.com/l/_73goANN7wQO6


4. Prove by factor method that the roots of

the equation are complex

number.

Watch Video Solution

9x2 − 24x + 25 = 0

5. Find the equation of the st.lin whose

inclination in and which is situated at a

distance  unit from the origin.

Watch Video Solution

150∘

10

https://dl.doubtnut.com/l/_JnJC3rSaS9g8
https://dl.doubtnut.com/l/_rfzsMWgWmoNb
https://dl.doubtnut.com/l/_i1dT5eIU2wqy


6. For any three sets A,B,C prove that

Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

7. Prove by venn diagram,

Watch Video Solution

(A ∩ B)c = Ac ∪ Bc

8. If and 

,then prove that 

2 cos θ = a +
1

a
2 cos ϕ = b +

1

b

2 cos(θ − ϕ) = +
a

b

b

a

https://dl.doubtnut.com/l/_i1dT5eIU2wqy
https://dl.doubtnut.com/l/_27wo6zgzV8wx
https://dl.doubtnut.com/l/_nNNUY5TM7UOR


Watch Video Solution

9. Prove that if and 

,then show that 

Watch Video Solution

x = a(cos θ + sin θ sin 2θ)

y = a(sin θ + cos θ sin 2θ)

(x + y)2 / 3 + (x − y)2 / 3 = 2a2 / 3

10. For any complex number z, show that the

minimum value of | z| + | z -1 | is 1.

Watch Video Solution

https://dl.doubtnut.com/l/_nNNUY5TM7UOR
https://dl.doubtnut.com/l/_A5zEA5xgfxq7
https://dl.doubtnut.com/l/_uFNPXzokEVkW


11. Find the amplitude of and 

.Hence find the amplitude of 

Watch Video Solution

( − 2 − i2√3)

(√3 − i)

−2 − i2√3

√3 − i

12. Solve :

Watch Video Solution

∣∣x
2 + 4x + 3∣∣ + 2x + 5 = 0

https://dl.doubtnut.com/l/_O1G3oYGpJhKj
https://dl.doubtnut.com/l/_nCh22DHDEA7G


13. The coordinates of A and B are (1,3)and (2,1)

respectively and P is a moving point on the

straight line x+7y=12.Find the locus of the

centroid of the triangle ABP.

Watch Video Solution

14. Prove that the disgonals of the

parallelogram whose sides are ,

,'sqrt3x+y=1'and are

perpendicular to each other.

√3x + y = 0

√3y + x = 0 √3y + x = 1

https://dl.doubtnut.com/l/_eFUZTkkteBhX
https://dl.doubtnut.com/l/_7zBMHoe33RWI


Watch Video Solution

15. If the two adjacent vertices of a square are

(3,4)and (1,-1,) then find the length of the

diagonal.

Watch Video Solution

16. State the Factor Theorem of algebra.

Watch Video Solution

https://dl.doubtnut.com/l/_7zBMHoe33RWI
https://dl.doubtnut.com/l/_hf3jwhNWm112
https://dl.doubtnut.com/l/_rCae6CVhSKyd
https://dl.doubtnut.com/l/_gX6dXaeuMdoM


17. Show that if n be odd, x + 1 is a factor of

.

Watch Video Solution

xn + 1

18. Find  taking h = 1.

Watch Video Solution

Δ2(eax + b)

19. State the classical definition of probability.

Watch Video Solution

https://dl.doubtnut.com/l/_gX6dXaeuMdoM
https://dl.doubtnut.com/l/_BCQdHVdPxPE2
https://dl.doubtnut.com/l/_5t0Yg9b6ytIo


20. What are the limitations of the classical

definition of probability?

Watch Video Solution

21. If 3 tickets are drawn randomly from 2n

tickets numbered 1, 2, 3,………,2n, find the

probability that the numbers on the chosen

tickets are in arithmetic progression.

Watch Video Solution

https://dl.doubtnut.com/l/_G3czWNfqrcEv
https://dl.doubtnut.com/l/_GCZCUY0BzCWL
https://dl.doubtnut.com/l/_7fZBTSYXYkvL


22. State the desirable features of a good

questionnaire.

Watch Video Solution

23. Define with example, ordinal data and

nominal data.

Watch Video Solution

https://dl.doubtnut.com/l/_7fZBTSYXYkvL
https://dl.doubtnut.com/l/_U8XCcwQgAuza


24. Draw a blank table showing the essential

parts of a table.

Watch Video Solution

25. State the uses of an ogive.

Watch Video Solution

26. Define with examples "equally likely events"

and "disjoint events".

https://dl.doubtnut.com/l/_oEJ3io1QUVZR
https://dl.doubtnut.com/l/_TrJQOUqTxEBV
https://dl.doubtnut.com/l/_XTXSnXkrk1nE


Watch Video Solution

27. ,  and  are 3 events definds on a

simple space s. 

Use sets-theory rotations to represent the

following events.

Exactly one of them will occur.

Watch Video Solution

A1 A2 A3

https://dl.doubtnut.com/l/_XTXSnXkrk1nE
https://dl.doubtnut.com/l/_DyF3IxrjKlT0


28. ,  and  are 3 events definds on a

simple space s. 

Use sets-theoric rotations to represent the

following events.

At least two of them will occur.

Watch Video Solution

A1 A2 A3

29. ,  and  are 3 events definds on a

simple space s. 

Use sets-theoric rotat6ions to represent the

A1 A2 A3

https://dl.doubtnut.com/l/_ynmySK0nKLkC
https://dl.doubtnut.com/l/_B4FpeFObP8n3


following events.

None of them will occur.

Watch Video Solution

https://dl.doubtnut.com/l/_B4FpeFObP8n3

